KCL

VQ Series Single Pump Ordering Code
VQ RIERE]IBIES]

VQ15
VQ20  SVQ25
VQ25  SVQ35
VQ35  SVQ45
VQ45  DVQ45
ORDERING CODE EJ&&#s5I
vQI5 17 F R A A 01
Model number | Displacement Mounting Type | Rotation Dﬁschta_lrge Is’gglttlfc))% Shaft Type
BO® corev it | ZEH RN @M POE #ONE INBHHER
VQI5 6,8,11,14,17, View from | A. A: 01:Normal
19,23,26,31,38 ?«}fﬁggﬁ% Upward Upward
68111417 e (Normal) (Normal)
V 20 20 ) ) ) rﬁ]t rﬁ]t
Q 19,23,26,31,
38 F: R: B: B:
Flange Type Clockwise | Downward Downward
VQ25 18,22,26,32, s [t AT AT
SVQ25 38,43,47,52,
60,65,75 R: R:
L: On Right Hand | On Right Hand
SVQ35 16135 Foot Type Clockwise
> FADEE Y uslisEay L: L:
VQ45 Op Left Hand OI} Left Hand
SVQ45 136,156,189, Vs Tg
DVO4S | 200216237
SINGLE PUMP WEIGHT LIST (Kg)
BEREER
VQI5 | VQ20 | VQ25 | SVQ25 | VQ35 | SVQ35 | VQ45 | DVQ45 | SVQ4s
Flange Type | 10.3 12.3 16.7 23 36 33 52 61 66.5
Foot Type 12.7 17 214 31 44 41 60 92 74.5
O smet 09 0.9 1.6 1.6 2.0 2.0 3.2 3.2 3.2




VQ Series Max. Continuous Pressure
KCL VQ R T{EEETIERER

VQ RIIT{EETIRA

. Using antiwer oil or Using water glycol Using water-in-oil
Model Qeomefrlc Phosphate ester fluid fluid emulsions Min Speed
ygs |disPL (R R B ERKZ _BR ERHEKILR (rpm)

B (c.c/rev) P
RIEEE

st Max Pressure| Max Speed |Max Pressure] Max Speed |Max Pressure| Max Speed
(Kgf/em?) (rpm) | (Kgflem?) | (rpm) | (Kgf/em?) (rpm)

REE7 REER REEN R REEA SR

06
08
11
14
VQl15 17 210 1800 160 1200 140 1200 800
19
23
26
31 175 1500
38 1200

06
08
1
VQ20 | 14
17 210 1800 160 1200 140 1200 800
19
23
26
31 1500
38 175 1200

18
22
26
vQ2s | 32
38
SVQ25[ 43
47
52
60
65
75 1500

210 1800 160 1200 140 1200 800

60
66
vQ3s |7
82 175 1800 160 1200 140 1200 600
SVQ35 38
94
108
116
125 1500

136
VQ45 156

SVQ45 189 175 1800 140 1200 140 1200 600

200
DVQ45 216

237

1500




KC L VQ Series Typical Performance Characteristics
VQ RIREEREIHFIER

Delivery Flow (¢ /min) at no-load pressure Running Speed Max Pressure
mEEDEE T E (rpm) B3R (Kgflcm?)
Model Running Speed (rpm) #& 5% Max Min RAXEDN
2w 1000 1200 1500 1800 LEZN & Cont. | Peak.
06 6.2 74 9.3 11.2 1800 800 210 240
08 8.1 9.7 12.1 14.6 1800 800 210 240
11 11.2 13.4 16.8 20.1 1800 800 210 240
14 14.3 17.1 215 25.7 1800 300 210 240
17 17.1 20.5 25.6 30.7 1800 300 210 240
VQI5 19 19.2 23.0 28.8 34.5 1800 300 210 240
23 233 27.9 34.9 41.9 1800 300 210 240
26 26.1 313 39.1 46.9 1800 300 210 240
31 31.1 37.3 46.6 — 1500 300 175 240
38 38.1 45.6 — — 1200 300 175 230
06 6.2 7.4 9.3 11.2 1800 800 210 230
08 8.1 9.7 12.1 14.6 1800 800 210 230
11 11.2 13.4 16.8 20.1 1800 800 210 230
14 14.3 17.1 215 25.7 1800 800 210 230
VQ20 17 17.1 20.5 25.6 30.7 1800 800 210 230
19 19.2 23.0 28.8 345 1800 800 210 230
23 233 27.9 34.9 41.9 1800 800 210 230
26 26.1 313 39.1 46.9 1800 800 210 230
31 31.1 37.3 46.6 S 1500 300 175 230
38 38.1 45.6 S S 1200 300 175 230
18 18.1 21.7 27.2 32.6 1800 300 210 230
22 22.1 26.5 33.2 39.8 1800 300 210 230
26 26.2 31.4 39.3 47.1 1800 300 210 230
32 32.1 38.5 48.1 57.7 1800 300 210 230
VQ25 38 38.2 45.8 57.3 68.7 1800 800 210 230
SvQ2s| 43 432 51.8 64.8 77.7 1800 800 210 230
47 47.1 56.5 70.0 85.0 1800 800 210 230
52 52.3 62.7 78.4 94.1 1800 800 210 230
60 60.2 72.7 90.3 108.3 1800 800 210 230
65 65.3 783 97.9 117.5 1800 800 210 230
75 75.0 90.0 112.5 - 1500 800 210 230
60 60.3 72.3 90.4 108.5 1800 600 175 210
66 66.4 79.6 99.6 119.5 1800 600 175 210
75 76.3 91.5 114.4 137.3 1800 600 175 210
VQ35 82 82.2 98.6 123.3 147.9 1800 600 175 210
SVQ35 88 88.3 105.9 132.4 158.9 1800 600 175 210
94 94.5 113.4 141.7 170.1 1800 600 175 210
108 108.2 129.8 162.3 194.4 1800 600 175 210
116 116.1 139.3 174.1 208.9 1800 600 175 210
125 124.6 149.5 186.9 - 1500 600 175 210
136 136.8 164.0 204.0 246.0 1800 600 165 175
VQ45 156 156.2 188.0 234.0 280.0 1800 600 165 175
189 189.5 227.0 284.0 340.0 1800 600 165 175
SVQ4 M0 200.0 240.0 300.0 360.0 1800 600 165 175
DVQ45| 216 216.0 260.0 324.0 — 1500 600 165 175
237 237.0 285.0 355.0 — 1500 600 165 175




KCL

VQ Series Single Pump Dimensional Drawing

VQ RIIERNERTHE

VQI5

DISCHARGE PORT @ 15

SUCTION PORT® 30.8 \

Al

ho

Max. Pressure: 240 Kgf/cm2 (Peak)
Max. Speed: 1800 rpm

4-M8X1.25P

DEEP 17

2-@ 11 HOLES
@ 18 SPOTFACER 1 DEEP

=

9

N

Dy

)

T,

(=3
o

148.5

T T T Q‘j} !—‘Tﬁr\ %
50 | 55 95 !
g | 98 4__24.5 72.5 72.5 |
\@ | &/ 315 180
: ]
‘ ‘ L | gas Foot Type (RAIEERY)
4-M10x1.5P-DEEP 17 ] NO.03-Shaft A B C
£ | 11-Teeth Spline NO.01-Shaft (#19.05| 21.24| 4.76
= 3/4" (19.05)DIA NO.03-Shaft Spline shaft
30" pressure
176 angle Flat root
25 44 side fit 133.5
56.5 1. 106
35 e =
g S <| = | .
g | T—Tn N
o 1] ﬁﬂ —r T 1 A \El e
- { - - \ b, =
&
S 2-0 11 HOLES
i @ 18 SPOTFACER
| DEEP ‘ !
VQ20 Max. Pressure: 230 Kgf/cm2 (Peak) 197.5 4-0 13.5 HOLES
Max. Speed: 1800 rpm 67 021 SPOTFACER 1 DEEP
o ST
DISCHARGE PORT 0 19.05
13 45 - —
SUCTION PORT @ 31.75 \ ] 32
B £
< |
< T
60 | 73
= Il J £ 115 438
N Foot Type (RIEEHY)
4-M10x1.5P-DEEP 17
A B C
4-M10x1.5P-DEEP 19 NO.O1-Shaft |0 22.23| 24.5 | 4.76
NO.02-Shaft | @ 25.4 | 28.18| 6.35
NO.03-Shaft |@22.23| 24.94| 6.35
197.5 174
67 28 59.5 o o
‘[ i 29 2%
|
T e <] =
| | 46
g 32 2
—
g [ 1 +\°4
- i S
[
2-9 11 HOLES
021 SPOTFACER 1 DEEP

P




KCL

VQ Series Single Pump Dimensional Drawing

VQ RIIERNERYTE

2-0 17.5 HOLES

@26 SPOTFACER 1 DEEP

Max. Pressure: 230 Kgf/cmz(Pcak) 222 4-013.5 HOLES
VQ25 Max Speed' 1800 pm @ 21 SPOTFACER 1 DEEP
‘"!_lh
DISCHARGEPORT 025
- 45
SUCTION PORT @ 39 ] 32 }
23
o (o]
N i T i il
(= < sl
y . 60 73 120 i
: i 115 38 %5 | 9
230
4-M10x1.5P-DEEP 18 Foot Type (FAIEEEY)
40.7
79 [ NO.04-Shaft A B C
4-M12x1.75P-DEEP 19 s 1632 doo. -13
h L 1sx4s° -P- - NO.01-Shaft |¢ 22.23| 24.5 | 6.35
T - teeth30° NO.02-Shaft [¢ 25.4 |28.18] 6.35
= tg’ pressure angle NO.03-Shaft |@ 30 33 7
L S Flat root side fit. |NO.04-Shaft| Spline shaft
NO.W-Shaft | 928 [30.8 | 635
222 171
83 381, 595 o
Sk
- LT 472
° —% 50 o
= ¢3
3} ‘ 46 ‘ i N
! - - - S -8
1 = T =
| 2-0 13.5 HOLES
021 SPOTFACER 1 DEEP
13
957
2
SVQ25 Max. Pressure: 230 Kgf/cm' (Peak) 238 4-0 17.5 HOLES
Max. Speed: 1800 rpm 83 381 595 | 726 SPOTFACER I DEEP
L -1
’E’ ‘ n
-
L ol N
DISCHARGE PORT P1 @ 25 4-M10X1.5P-DEEP 18 N — &
SUCTION PORT 0 39 - B =1 2
5 e
B3|
- 131
vy
Foot Type (FAIEEHY)
40.7
0l
4-M12X1.75P-DEEP19 262 [ 243 » NO.04-Shaft A B C
( : '-5X£ 16/32 d.p. -13 NO.01-Shaft |@ 22.23| 24.5 | 6.35
i :ﬁ teeth 30° NO.02-Shaft | @ 25.4 22.;8 6.;35
L © pressure angle Eggi':ﬁag 0831?““6 o
| Flat root side fit. —oond
238 NO.W-Shaft| 028 [ 30.8 [ 635
83 381, 595 3 e
== 211
%:!7‘\ <| M
25
1 _ k | 5 -
:! : °°
43
9.5




KCL

VQ Series Single Pump Dimensional Drawing

VQ RIIERNERTHE

VQ35

Max. Pressure: 210 Kgf/cmz(Peak)
Max. Speed: 1800 rpm

4-0 17.5 HOLES

@26 SPOTFACER 1 DEEP

21 i
DISCHARGE PORT @ 30 4-M10X1.5P DEEP 19 g’ /\
SUCTION PORT 0 56 UR } ) ‘ 5 ‘ -
& y %< | KJ A
© g
& =
- AN = o > 1
~ 0/ . @/ ‘ I = 762 | 88 151 R
A 20 50 117.5 117.5
[ 131 274
42.9 U 552
30.2 79 33 Foot Type (RAJEERY)
4-M12x1.75P DEEP 19
I 23x45c  NO.03-Shaft A B C
T 1224dp-14 NO.01-Shaft |0 31.75]35.32 | 7.95
J = teeth 30° NO.02-Shaft |@ 34.9 |38.56| 7.95
s pressure angle NO.03-Shaft | Spline shaft
279 Flat root side fit. 213
90 112 3 = 181
P o 75 T3 %3
— A W <| m T
= % _ 47 s Jf\l
23
GRS IT & -
Wé & &%
@ o 2-0 17.5 HOLES
© 26 SPOTFACER | DEEP
. 2
SVQ35 Max. Pressure: 210 Kgf/cm® (Peak) 278 40175 HOLES
Max. Speed: 1800 rpm 97 112 026 SPOTFACER 1 DEEP
DISCHARGE PORT @ 30 21 % REREID!
9 4-M10X1.5P DEEP 19 L‘ /\
SUCTION PORT @ 56 - — = k D -
| L — =
L\ AN ZMED
S ! =N
\ =S H 42
L ?< ~
% A ;7 © T T ‘ > T
¥ e 1762 88 151 o
=2 /ﬁ\ /\r} \ -1 = 50 117.5 117.5
IS \\j \A\// | JJ | % 131
ﬁ%’—’% T 40
% 1 Foot Type (BAIEEEY)
\
42.9 1—30.2
4-M12x1.75P DEEP 19 A B c
NO.01-Shaft |@ 31.75] 35.32 | 7.95
NO.02-Shaft |0 34.9 |38.56 | 7.95
278 213
o _ 112 g 181
a - 75 23|23
—] = 63 <| @ Y ——
| [ = m [\
= — N . A A
- ] l 2 D) N 2/ 2
’LS - z’ KJ 4 v—
& i :
2-017.5 HOLES NJ 13
*L 0 26 SPOTFACER -




VQ Series Single Pump Dimensional Drawing

KCL VQ RIERNLRTHE

VQ45 Max. Pressure: 175 Kgf/cmz(Peak)
Max. Speed: 1800 rpm ‘ 136 4-0 17.5 HOLES
026 SPOTFACER 1 DEEP
110.2 135
DISCHARGE PORT 0 38
SUCTION PORT @75 4M16x2.0P-DEEP 19 |
1\ *
(=)
= / ®  g.d
. P H 7373
\ AN 3|
=k
3 (] !
= NG |
| |59 | 117.5 117.5
‘ “ ﬂ\ r 131 ‘ 274
E 4-M12x1.75P-DEEP 19 Foot Type (BJEE%))
61.9 35.7 &

336
110.2 - 135

I
e |
VK

/\ 20 17.5 HOLES
(26 SPOTFACER 1 DEEP

98.5

+0

@127 -0.05

<
1

187

7@ a

. 2 4-0 22 HOLES
Max. Pressure: 175 Kgf/cm” (Peak) 043 SPOTFACER 1 DEEP

DVQ45 Max. Speed: 1800 rpm %{‘;ﬂ N R

3273

13 “
4-M16x2.0P-DEEP 19 pu %
SUCTION PORT @ 75 619 35.7

T T -
o ‘ o g 1143
TR [ , 2 23 39
~ / / - % 185
< 438
) \AKJ% / ¥F'J Foot Type (HJEERY)
337 273 ‘
o e 228.6
43 83 _ E—
\ = R ZN
T s D | i
_: ° N 4 N 7
g%igj_ﬁ TN 0 | B g S
| | [ [S) ~ — /\
o
i A <
= VaL 3 & :
“ &
]
[

4-0 22 HOLES
@39 SPOTFACER 1 DEEP

(TT




VQ Series Single Pump Dimensional Drawing

KCL VQ RIERNURTE

. 2
Max. Pressure:175 Kgf/cm™ (Peak) 13 SPOTFACER TDEEP

SVQ45 Max. Speed:1800 rpm ﬁgﬂ
VAR

i i
4-M16x2.0P _DEEP 19 —

Lo
3

]

3273

\
—
[ s
187.3

|
-
3, 374.6
85

357
SUCTION PORT @ 75 :
Lo =
D\ % 2?3 T[T T [T
\\ 24% b 1143 280
N
3 1N )
IR S 1

Foot Type (BIEEEY)

390
166.5 131 228.6
50 81 B
25 .2 = ‘ g
= e (7 ‘ )
T~ es 2| g NS4 N4

01524 -0.05

N
228.6

3
E
L
on)
”

(T

4-0 22 HOLES
@ 39 SPOTFACER 1 DEEP




KCL VQ Series Single Pump Decomposition Chart

VQ RINERDEE

VQI5
VQ20
VQ25
VQ35
VQ45

SVQ25
SVQ35
SVQ45
(DVQ45)

VQ Single Pump Parts List

VQ RIEREHR
NO.1 Retainer Ring (ig) NO.11 O-ring & Endless (HiEEDHR-OBIE (1)V)
NO.2 Seal (i) Back-Up Ring (RIE/IR-ESHEE (1))
NO.3 Bearing (i) NO.12 O-ring & Endless (BFiE/IR-OBIE (X))

NO.4 Shaft () Back-Up Ring (RIB/IR-BEER (X))

NO.5 Key (§&)

NO.6 Housing (Zf2)

NO.7 Cartridge Kit (PFfg)
NO.8 O-Ring (ORE)

NO.9 Cover (L&)

NO.10 Cap-Screw (LZi%#%)




KCL

RIAEERTIFIER

Typlcal Performance Characteristics (VQ Series)

£/min Output Flow

//min Output Flow

15

14

13

12

£/min Output Flow

11

10

S N B~ O X

= |

0 35 70 105140175 21

Pressure Kgf/cm2

VQ15-14

Input Power (Kw)

o

26

24

22

20

¢/min Output Flow

18

16

141

12

10

A O

y

Input Power (Kw)

0 35 70 105140175210 2

Pressure Kgf/cm2

P = S}

VQ15-11
22
20 \\I‘Slfpm
18 =
16—t Iij?m
\\
14 —
12 &\\
10
8 10
8
62
¢ 8
]
2 2
=
Z 0o £
0 35 70 105140175210
Pressure Kgf/cm®
VQ15-17
30 Sy
28 18001,
26
24— =500
\
22
20 N \IqU
p:
18 =
-
16— F= 000,
14 - ——16
14
—12
10
—8
e
s 4
2
0
0 35 70 105140175210 245

Pressure Kgf/cm2

£/min Output Flow

£/min Output Flow

Input Power (Kw)

VQ15-19
35—
s 1 [80pm
\‘\\;1500 -
25 o
— 1 iz :
20 oo
100G
10
16
//
12
g
= 4

0
0 35 70 105140175210 245

Pressure Kgf/cm2

VQ15-23
45
40 \ﬂq)\m
35— 501
30 - \IPm;\\
25| —F—F—20rpmy
T 1000k, | T
20 T
15 =120
16
—112
ol 4

0
0 35 70 105140175210 245

Pressure Kgf/cm2

Input Power (Kw)

Input Power (Kw)




KC L Typlcal Performance Characteristics (VQ Series)
R

VQ15-26 VQ15-31
2 50 _ 60
L | — 1
%40 L = 50 iy
— +~
T 300, || 20—y, | T
3 — B _ 8 i
= 30 —=P6rpm © 40 T
E |00 T ER R e
20 T = 30 —=="tong =
,25’; \\I\pl\n\\\\, rg
20 ¥ 20 F=130%
~~H15 8 H25 8
A2z
— =10 & 2082
==k 15 £ _15 2
=L 0 = - - 10 =
0 35 70 105140175 210245 = 1s
Pressure Kgf/cm2 0
0 35 70 105140175 210245
Pressure Kgf/cm’
VQ25-18 VQ25-22
s 40 z 45
= o 1800, = L 1800pm
2 15 T 2 ——| I5pg T
2 T 200 | E -Am
2 20 =gt ) e T N
et - 0mpn —— E b= 1000, 1
S0 R s e
] E H25%
202 20%
~ 152 - 158
—— 102 =7 108
— ///_—/" B - ~ //// i +—
%////// (5) é“ //// g é
0 35 70 105140175 210245 0 35 70 105140175 210245
Pressure Kgf/em® Pressure Kgf/cm®
VQ25-26 VQ25-32
£ 50 . " z 60 ] p
LL; 40 [ e F 50 [ em
o — — = —
g 500, g 1150 ™
Q . — e = =1pm
2 30 =200 = 40 —
£ - | 1opgp T E 1110 h
= =0 | S [——Pm
20 P =1 30 [ T==900p, —
125% I e e )
20% 20 ~130%
~H158 1258
z - z
1102 208
=~ 15 2 4158
=5 o — o
— 0= — = 105
0 35 70 105140175 210245 =F 5
Pressure Kgf/cm” ==

0 35 70 105140175 210245
Pressure Kgf/cm




KC L Typical Performance Characteristics (VQ Series)
VQ RIIAELERBIFFIER

VQ25-38 VQ25-43
70 80
2 60 | -P0rpp Z 70 e —=1800rpin,
— | 1 23 2
50—+ S Z 60 T 00—
= — —
= ——<Y0rpm = 1200,
O 40—1_] T000rgy T—— o 50 ]
= F— = -
S S [
40 % 40 %
Z =)
30 g 30 §
20 > 20
= =
=i = =1 | =]
] 0 & == 0 E
0 35 70 105140175 210245 0 35 70 105140175 210245
Pressure Kgf/cm? Pressure Kgf/cm2
VQ25-52 VQ25-60
5 100 3 110
2 — 1800, 3 180y,
= 90 ——Om o 100 o
~ I -~
2 80 [— 2 9 i
g — \1500117111 = \5()017]
S 70 o S 80
E g = Loy | [ =
g 60 —~—"YPm g 70 2o,
S = 7y — S Bm
50 =+%0m51; 60 — 70
+2Pin & 0’2771
40 = =
50 B {50 &
M N
40 E 40 E’
=130 2 ——30 %
g o - ~
- — 20 5 —F 20 =
- 2 st 2
= 10 5 10 £
= 0 %/ 0
0 35 70 105140175 210245 0 35 70 105140175 210245
Pressure Kgf/em® Pressure Kgf/em®
VQ25-65 VQ25-75
120 140
2 11018005, E 130
h
100 120
£ 1 1509 3
S 90 == S 110 1300
=) [ =) =4 pm
Z 80 = 100 =]
S 70 =200, = 90 -
T T —
i~ logp I \QOO’PIU
60 <0 80 1
50 — =] 60 B i S 7 29 e = P
- =~ 0m
50 150
~
40 ~ 40 ~
z S
30 ¥ 130 ¥
B o 20 = SEan 20 2
- ] ~ ]
o 10 & = 10 %=
A 2 A 2
0 = 0 =
0 35 70 105140175 210245 0 35 70 105140175 210245
Pressure Kgf/cm® Pressure Kgf/cm®




KC L Typlcal Performance Characteristics (VQ Series)

RIMELREIFFIER

;220
2200
S
5180
(=
5160
=140
g
E120
100

VQ35-66 VQ35-82
120 150
S — B —~—1 |
2 110 18000, = 140 1800,
= 100 — = 130
£ o0 |1 ' I £ 120/ !
= — O =] =
o) —pm| o) L 1300,
£ 80 = g 110 i
E 70 |——— e £ 100 =
s —=01pm S 100/ ——1
it N — 126
% %0, T X 200
S 80 =1~ =
4 \\\‘\~IQ)O\17«"2 L
==t 60
50 50 _
2 =
40 = 4
0 v 5 0 &
30 ¢ - —H30 5
Bl S P 111l &
. £ - £
e 10 = e 10 5
i 0o £ | 0o &
0 20 4060 80 100120140160180 210 0 20 4060 80 100120140160180 210
Pressure Kgf/ em’ Pressure Kgf/cm®
VQ35-88 VQ35-94
160 180
B T |18 B ]
g 140 = 2 160 B0y,
= -4 | | | 15004 = I s e
2 120 - 1300mpm £ 140 ———— 1300
= — 1 I B 1 ——12Pm
8 100 \\;OUrDm 5 120 ] =
R == T T ———— = 100} —F—F—=——1200spp,
e e e 1 T
60
60 60
50 50 _
2 =
40 = 4
- 03 0
- — 30 = _ 130 5
L--1" o _-F 3
e 20 2 = SEEEL 20 &
= 5 =" o
= 10 = e 103
P 0 £ Fcl 0 £
0 20 4060 80 100120140160180 210 0 20 4060 80 100120140160180 210
Pressure Kgf/em” Pressure Kgf/cm2
VQ35-108 VQ35-116 VQ35-125
e
—] = 1800, &= 220
— 156 5180 — 5200
[ —2Pm 2 T 2
————] — = 2160 —— —37 5180 ——F——=—11307p
—-—[ 150 —-2%rpm —+3%0rbm
— 0”’&\\ 2140 F—— . —H =160 R
[ 300 A S0y Euo—= — 2005,
S = 100 e 120 F——— — -
~-1---1 1900 T —~1Pm 17=4---[ 19004
—Etbm - e 100 =P
TN 100 _ 100__
80 é 80 é soé
H 60 g — 60 g 60§
- —T | —1 _L
%} 40 5 =40 5
= e 20 = S 20 5 20 =
== 2 = Ay 2
=T 0 = = 0o £ - 0 =
0 20 4060 80 100120140160180 210 0 20 4060 80 100120140160180 210 0 20 4060 80 100120140160180 210
Pressure Kgf/cm2 Pressure Kgf/cm2 Pressure Kgf/cm2




KC L Typlcal Performance Characteristics (VQ Series)

RIMEEEFIER

VQ45-136 VQ45-156
> 280 300
B
2 260 T £ 280 s
= 240 D0npry— % 260—= —ipen———
£220 2240 ;
S 200 ——L300rpm, 3 220 - 500pm,
é 180 ; = £ 200 =
£ 160 12005, — £ 180 L2008, 110
140 ==—1——T—10pg 100 160 [==—1-——Tt0o0p; ——1 100
120 1===7Pm___ g 140 R L1 N )
100 80 120 80
70 70
60 = 60 =
> 50 é — 50 é
- =1 40 5 = == 140 5
o 30 2 < 30 2
L= 20 &= Lo< 20 &
24 10 2 Z 10 2
Z 0 £ — 0 £
0 35 70 105 140 175 0 35 70 105 140 175
Pressure Kgf/cm® Pressure Kgf/em®
VQ45-189 VQ45-216
340 360
% — 1800, % T T—118004p,.
2320 7 2 340 P |
=3 — = —
= 300 = 320
8280 —— 561 8300 . 140
——— 1 15U0rpn - 11500
3 260 —r 130 5 280 L EL
é 240 120 é 260 120
= 220 1206, 110 £ 240 110
S T ——Tpm = T 12
200 ; 100 220 ——<00pm 100
180 ===~ W0rpm” 1 90 200\ —=—T1550—1 7| %
160 80 180 ==l 1 80
70 170
— 60 = v — 60 =
—=— 50 é - 50 é
- = 40 -~ = 40 5
= 30 2 > 30 2
“ 20 & - 20 &
ZL” 10 2 10 2
Z 0 = - G
0 35 70 105 140 175 0 35 70 105 140 175
Pressure Kgf/cm® Pressure Kgf/cm®
VQ45-237
5 440
2 420
= 400
E380 140
S 360 1500 130
é 340 F—F——== pm 120
£ 320 — 110
300 100
280 - 1200mpn 90
260 80
240 ——— TO0 —{ 70
220 ‘>‘-“@§1/‘ 60 2
7
200 C 50 4
> = 40 5
g 30 2
- 20 &
10 2
v 0 g

0 35 70 105 140 175
Pressure Kgf/em®




KCL Varlable Displacement Vane Pump Care in Application

?: oIl ey

Care in Application BEREFEHEHTESEIE

Power Unit Circuit
In variable displacement vane Pump systems ,
the close circuit is recommended.

Sharp Characteristics

and Quick Response

Quick response is displayed in both off-on
control of operation , due to use special design
"BIAS PISTON".Stable and accurate operation
can be attained in an instant.

Low Noise Level

(even in the high pressure range)
The noise level(dB)is very low , even in the high
pressure dut to used of "JOURAL BEARING",

special setting and shape modification of the
suction and delivery ports.

Energy Saving Type

Power loss has been reduced further by
application of our highly advanced precision
machining technology to assure the same high
efficiency performance as the series with many
new mechanisms of our new design.

Sturdy Structure for Durable Life
High durability is assured by the sturdy
construction based on our rich experience and
know how as well as strict selection of materials
and high precision machining.

Stable and highly efficient performance is
possible even under severe operating conditions.

Shaft Rotation

Clockwise rotation viewed from the shaft end is
standard.

Fluids Permissible
When working pressure lower than 70 bar ,

Hydraulic oil with a viscosity from 30 ~ 50(cst)
(VG32) at 40°C is recommended.

| — RS e RS R ELEt -
2. BUSMIMEE RS B R AYEAE -
3SHENIRE - BEE7E 70kgfem’ BHORIE -
4 BB (557) -

5 FEEEERE - SAEMEIS -

6. RE DB ISt -

SYMBOL
Drain Pipe
External drain control type. Drain connection
must be piped directly to tank and back
pressure must not exceed 0.3 bar.

QOil Temperature Range

Oil temperature range should be from 15°C~
60°C during running operation and should be
more than 7°C at starting.

Alignment and

Installation of Pumps

In case the pump is connected to an electric
motor , limit the defecttion of the alignment
between the shafts to 0.05 mm TIR , and angle
+1 degree.

Be sured the electric motor direction is
accordingly with the pump's shaft before
starting.

Suction Port min. Pressure
Suction port minimum working pressure is
+0.03 bar.

Pressure Adjustment

The pressure will be increased with the pressure
adjusting screw is turned clockwise and will be
reduced when the adjusting screw is turned
counter-clockwise.

Cautions for Starting

When the pump is to be operated for the first
time , place the pump delivery side in NO-Load
condition and repeat starting and stopping of
the motor for several times to eject the air from
inside of the pump and piping. If keep on 10
minutes operation will be much better.

T EEHEEREER (VG32) -
S RNNIROHRE - WEEFEESENRFE -
I BiEHIimaHERE R J7E 0.3bar DIA -
9. fEERAYRE RIS (15°~60°) 2/ -
10. REEFSE N EREZRF I RINEE 0.05m/m 5§
+1° A -
11 OB EREHIZE 0.03bar DA -




